MRXFEEXHAR

SH7E48H
F£HH EHH = £%8 (M)
R7.4.8 =8 B 6,000
R7.4.8 BB Fﬁfﬁf_&fnnPR 3,087
R7.4.10 £E |ERXH 6,000
R7.4.12 £E |ERXH 5,500
R7.4.17 £E |ERXH 6,000
R7.4.25 £E |[ERXH 10,000
H 36,587
SH7E58%H
£HH EHHE £%8 (M)
R7.5.6 FE  |EEEHA 10,000
R7.5.10 £E |[BERXH 5,500
R7.5.14 £E |ERXH 5,000
R7.5.26 £E |ERXH 5,000
R7.5.28 £E |ERXH 5,500
Hi 31,000
SH7E68H
F£HH EHHE = £%8 (M)
R7.6.2 BB FI'T’F%EEE.PR 3,564
R7.6.3 =8 "#ﬁ'a 7,000
R7.6.21 Gile ?ﬁh& =8 5,000
R7.6.30 BNE [hmEESLPR 3,564
Hi 19,128
SH7E78H
F£HH EHHE = £%5 (M)
R7.7.9 £E |ERXH 8,000
R7.7.11 2 |[ERXH 890
R7.7.17 S5 E | hiEESPR 10,692
R7.7.22 S E | hiEESPR 3,564
R7.7.24 B [ZEEETE 18,700
R7.7.29 £E |ERXH 5,000
R7.7.31 £E |ERXH 4,500
R7.7.31 BNE [hmEESLPR 16,200
Hi 67,546
SH7E8A R
F£HH EHHE = £%8 (M)
R7.8.6 S E | hiEESPR 10,210
R7.8.7 S E | hiEESPR 4,120
R7.8.7 S5 E | hiEESPR 7,128
R7.8.10 FE  |EEEHA 10,000
R7.8.19 = ERXM 10,000
R7.8.21 = ERXM 5,500
R7.8.23 BNE  |hEEMPR 3,564
R7.8.23 e |[ERXH 4,400
Hi 54,922




